1. (20%) IRIBEKNIR TES MR, HU I ERA BABIORE, NRf(n) = O(g(n)),
L f () Rri%teg(n) MATE. NEFRLENHIES, B7(n) = O(g(n)), BABEIRER-—ES
t, LEUATEREN, logn,n +4,n?, HIFERRElogn, {n,n + 4}, n?,

10g3 n, nloglogn’ nl+1/logn, 4logn, ’I’L!, 2«/210gn, ’I’L2, (11)n

2. (329) KR@ETIRERX, WFE—PRAEAX, TUMERT(1) = T(0) =c, HbcR—1ER
a)T'(n) =3T(n/2) +n
b)yT(n) =2T(n — 1) + 2
T (n) =T(3n/4) +T(n/4) +n
d)T(n)=T(T/8) +n

i

3. (287) BAEZEFZ=EHFMNTTER, MEFERHEARME_ARNTER, FINERNRERBLLRERES,
BIERM D rRafb, REEEe < b WEREZEZMR.

a) IRIT—PEE, AIMERARZT2n — IRERBRERIISANE_RNTE.
b) 4n22MBEREN, RIT—MDREE, ERFBEL — 2REBIRERIIBAME_ANTE, 9
HrRR B AR EZAILEBURER .

4. (20%) AE—NERKAA[L. 0], HAEBHTERSE1, BA[1] < Aln]. tbm
[10,9,9,8,9,10,10,11,12,13,14, 15,14, 13,13, 13, 12]. AEREEMHA[1] < t < An|tmsst,
B RASEERNE S, SHOLTOGE, MEHIZR, REEE—EHOLBEE, NRtRE
7, BE-1, SIRNEHNNEEZE,



